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East Los Angeles Colleg?
Department of Mathematics
Math 245
Test4
Sketch the following curves.
1.f(x)=x%2+4
- 1 o

2.f(x)=-x3-3




3. f(x)=—-Vx+4

4. f(x)=$—3




5. f(x) = ——

(x-4)?
y
- ‘ é
t 4
e A

6. f(x) = +4

—-/S--




7. f@) = —lx— 4| +3

8 f(x) =e**?2 -4




9. fx)=-(x+1)*-3

10.f(x)=(x—-2)3—1




11. f(x) = x‘:

Use synthetic division to express f(x) in the form f(x) = (x
of k

12. f(x)=2x3+x2+x—-8 fork=-1

13. f(x) =4x*—3x3-20x2—x -5 fork =3

- k)q(x) + r for the given value

For each polynomial function, use the Remainder Theorem ar{d synthetic division to determine

the value of f(k). Also, indicate whether f(k) is a zero for the ft

14. f(x) =2x3 —6x?> —9x +4fork =1

15. f(x) = 4x* +x2 +17x+ 3 fork = —g

nction polynomial function.

Use synthetic division to determine whether x — k is a factor
16. f(x) =2x*+5x3 —8x2+3x+13;x+1

17. f(x) = -2x3+x*-63;x+3

for the polynomial function f(x).

Factor each polynomial function, one zero is given. Determin

18. f(x) =x3—2x2-5x+6;3

19. f(x) =6x3 +17x% - 31x — 12; —4

all the other zeros.




20. f(x) =x3+6x%2—x—-30; -3
21. f(x) = x3—-2x%2-13x-10:5

22, fi)=x¥~1.1

23. What is your name?
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